
Time: 10 Minutes Paper G. Science 7th Total Marks: 10

5th Month, 1st Week, 4th Day Syllabus: Unit # 9:  Amplitude to Hertz+ Activity 9.5

Q.No.1 Encircle the correct answer from the following choices. (0.5×6=3)
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1. Wavelength is inversely proportional to the__________.
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(a) Time N*ì (b) Frequency �Ûŕ

(c) Amplitude Z
'.5Ð

ö
G
Fke (d) Distance ÃA

2. The amplitude is measured in. ZZZZ
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(a) Meter ¢a (b) Hertz CÙu, (c) Second ² (d) Joule �w

3. The symbol of wavelength is: zzzz----ÅÅÅÅ5555¼¼¼¼----ôôôô
EEEE
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GGGG»»»»ÒÒÒÒìììì::::

(a) Y (b) X (c) (d) F

4. If a body vibrates 4 times in one second, its frequency is:

ZZZZ¤¤¤¤////ZZZZqqqq----ŸŸŸŸZZZZqqqq----²²²²~~~~eeeegggg%%%%ûûûûzzzzZZZZ$$$$ffff$$$$™™™™@@@@****ììììÂÂÂÂZZZZkkkkÅÅÅÅ����ÛÛÛÛrrrŕ́́́ìììì::::

(a) 2 (b) 4 (c) 6 (d) 8

5. The wavelength of a wave goes on decreasing with the______ in frequency

of wave. zzzz----ÅÅÅÅzzzz----ÅÅÅÅ5555¼¼¼¼----ôôôô
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(a) Increase ZŸ± (b) Decrease ¶ (c) Moderate Šgxã (d) None Ãð7

6. The unit of frequency is: ����ÛÛÛÛrrrŕ́́́»»»»----....$$$$ìììì::::

(a) Joule �w (b) Second ² (c) Hertz CÙu,(d) Watt zZ^

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  What is amplitude? Z
'.5Ð

ö
G
FkeHì?

(ii) Define wavelength. Write its unit. z-Å5¼-ô
EYGÅ°p™,XZk»-.$KX

Q.No.3. What is frequency? Explain.       (3) ����ÛÛÛÛrrrŕ́́́HHHHìììì????zzzzŸŸŸŸssss####™™™™,,,,XXXX
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